BEREREBR

SL VA ke ¢

. i

T ) (s . s
B ;—;};. 2t




Q

o
X2

o
CEXED

&

pz
[}
-

R

ol 1D

TR
IR
EXEXENXEX

R

R
il % ;é::
A i
g T
PR
& 7N

< A

O, 0 % By % 4%
4% &% % o
G o %0 % %

it

*,
25
*,
&
.
o
RS
OGN

]
oy
e
2

*
X3

»

*,
0

D

A
0:0

o 0
DR

o

*
'y

9,
Qg
o

,

ik

*

F BR

=118
T

i s v

’0

~ ¥, }B‘
It ‘Eﬂ:
O

i

&t
i ¥

S
gl

I
5

B

i
5




EEREREBEH

B =2 E S e
ol =N T i et R s 1
2 18 55 3K Y P BT e eere et st s s s and |
3. 45 22 5K Il BB Thaeeeerveimnnmmnnncinininnniisniieneisineiminnnnd
405 S 3 TR 00 IE T ——3R S 4% B P! 5
R W I EC o St e
CRMEMB B A B i i 7
FrUE —aXEm
B R i o D e B T 12

m—

...............................................................

|

o
o
&
b

d:lﬁiﬁ%_félﬁ .......................................................... 17
e it 17




2 i TE 91 F2 OB N ok AL RBER T

PSPPSR SGPRPICE S0 TL SR s e e e e e Dt

90 B fYg T i voesveressssesss essmessss s 20
B By o vvoes e s 21
N e E 21
5. Al 45 i 3 4D B ] B st 29 1
R L R 23
TS A S TR B HE JH oo 24
B T A ormss s st s A 25
G T A3 [ Jflveveveressmnsses s s s 26
J0u [ v vee s oo s s e s 26
Y0 A ] oot et s s o7
19 Bl Bt s R 99

13, 35 B 35 2% 2R T HE I ooeove e i s 30
ﬁv A% /J\ = %&ﬁﬁ

9. 8 26 4 W 1 K T B 0 0 T 392
ggg;i,ff&ﬁm;n .......................................................... 33

S v B W
B O
ﬁ“-’fﬁ
o
DL AR ) TR




D 2 e e 2 2 TP PV PSS S G AN ARy

BB TR o v e e W M Gonn. e 38
9. &5 1w gg( t;l"J K BLBIUE 0 o irioisioniinnni i 38
10. S5 B J0 By FiToveiooviorossusseisssisiatsisseississssmmmmnesnisnsrenseo39
TR B P TR o ik e b M s bt ke b s 329
DO Bt T ..o chovs a0 gt s e Vg s B 0130 40
st tE HEZRIMLER

LR ik 49
R AR R R e R G 49
SR AR SRR R 43
LRI W o e cnndo S i 43
%k e S O P O R 43
G g o L e e mee e e e i 44

B B P B v v v b s sessrat ke s e SR 45

LB RABIT BN i 49

0. BF 55 IR 2 2 Bl B P i S e i i snen 51
wHONE PESHLA R Bk A

YW s e e e WL B SRR 53

W s B I A i b v i 53

e w1 e R S 54



fis TE R R B e R T ok Z L AR BT

A S B B g S e 54
5. B T BE 1) (g HE JII T S v 56

Bu S Ayervereesesssssssssssssss s e
7. KL A BB Bk B B AR s 57
R 58
9. B 7> 0L A 11 THE FH T B oo cis 59
R 1T, TR 61
11, 3 37 35 P B A B AR EE e e 62
12. 7 36 37 3 0 AN 52 2 B AR AT e 63

wuE A7H A

Lo 55 Bl] SRoveweveeeeessssmmssssssssssssissssissnnissss s st scessonsoes 85

2. 1 % 47 30 3R AK AT B K A BR BReeeeee 67
8. 47 B TR GE Flleveerverssmssserne st 71
£ F7 TSR PG A Flermee coveemessssssmmnt s s 79

wot+m BEBORR

TR TR b 78

20450 0 19 S B e e 80
8. B 1) P B S e 81
4-&%{%%%%@ ................................................... 82

5. B B 00 T R B e e 83




B 2 * 3

A A A A A A A AT A AN AL SNPNININININNININININ TN

6. 25 B Bl 4K BETE B0 B TG 84
To B JBE FG IS Shoveeererssssssss sttt 87
80 HH B [ JHE Jovvrevseneremmessmmm s 88
Hot—w SRR
To 7 TR SR e rereismesss s sies st et e 91
Do 1 R GR Y [ oreeeereesseerismssssnns s 91
8. 25 TSR B B Gorerrveeoesrvoremmmss st 93
Qo [ T 5 FH eeereee st 95
5. F7 Fh 5B B AR S T e 95
B B AL S FHLovvevreeseesessrnen s 95
TG B AE B e 96
R Al S N 99
9. A P B o evrrenrnes soesesnis s 100
10. 5 Tk 5K Y FBE JFioveesreeeresser s e 102
11 06 T8 AR 3R JE(Z B8 1) sssninsn e 107
12. 0 TR T5 TR TR — f I Yoo 110
18, 5 FL 5 B AR T oo vversesessmssesninsnesss s 111
14-39(77‘?%3‘"(9941@?5(% ......................................... 112
R S R B L O 116

. WU 4 ) R



BEEREEEEAR

=R 7 E a8
T M
ot e
gt+=%
EzxXmXEMR
LIEERNMBR FKAMBAMENW
{8 4% B a8 1 DL AR 0y 5 51 A ml DLg A U8
B B 385 0 F T 8k 4 UM S R B oG EC wR R
o 28 1

A=B.
Bl x(x+3)+9 4 (S R %7+ 3(x43)
K x(x+3)+9=(x"+3x)+9
=14 (B3x+9)=x" +3(x43),

A =Bl {18 % 3,57 LIt 4 X 4= Bk 22 i
H—RXN AP HEEARU WS 2B H
BRER—-HEAPLIEHERMB M 7T-243=
67— 5 {5 wif ik B o Ay AL 4 X

2.0 & S0 MR AR QBRI S S R




2 ffs IE SR R B UE L W W 1 AL AN S T

[CVITEN R A A A R R I A AP S R P T A R NI IO SNl Y N

9 % 5 %2 4 JE A0 A7 5% o HE I TS X
B B MR 43R T

ok O - - G ORTTE R e R
CEROEES (GRS

(@) # a,X"+a, X" ot @ =b X"+ b, X"

s i
Bl ao=Dbg @y=b e a,=b,
P45 58 e M B R B R [W,2 H R WO A LR — X
B B FB S B AY 7 s 40 ol A ik o KL
B 1,28 ax® —2x—4=Tx* +bx—¢,

%7?3 a=7’ b_—..—2 024.

B a, ay ey Fb, b,y o b, & i
T & X i BOI S 78 a, X +a, X' e da, =
X0 +b, W D45 i (5 85 U

@, 280 4. = Do a,=b,

T Y B R s By 1 9 U
() 438 B (8 A2 Al 1 1) BR B 240 2 W B W L

EBI FA=B REB=4

() 1A T P O RS A AT DT AU B K,
Bt L4 JH R A e i SRR 2R T DU IE B R A R T,




=% H S R M R EM 3

~ P

] fm % AT €AY () R 1 A

B % +3(x+3)=%2 4 (3x+ 9)=(x +3x)+ 9=x(x+3)+9,

BWII RA=CmB=CREA=B,

(8) HB/B=CRiEkEMIIEAC=8,

#% A=C, C=B R} A=B

IR x(x+3)+9=x"+3x49

22+ 3(x+3)=x%+3x+9

% x(x+3)+9=22+3(x+3)

EEIV — 5 %0 R A e DL R By
T BP0 s — e 4 AU

HY AH % 00 83 4500 DLAS Y F I 09 6 L

Biim A=B, WNREA+C=B+C%%

G ANEY: HFWHMMAENX AR
B SR — EEIE A48k B LFH
A = B;jilt 4% A,B Wi 3 e 45 1k 1 B BR A — (i
CRBMEW THETHENEMZHKRMN— MR
A 5

e — R RN ESE R A=B, H¥E.
I RS B, C=D, 2 — 0 2 G i 1 <% U0
WEBEENIESE X A=B &£ REMN,




2 fis T A% RS HE N b AL S T

o

Y

R mAsbeg C= D"ﬁIUﬁE@A - B,
& C=D FEMMNIL A=B %Rk
%) o 3K &% (a+b) —4ab {5 F I\ (a—-b).

S 2k S (g L) —dab = (@ — b) e (1)
B ] L)L 18 Hia®—2ab+ b’ =(a—b) e (2)

{H 2 (2) 30 A B s i 16 45 53k HL e (1) 5C 2
(2) 30 2% W1 DIt B 00, B B (L) X oL
%‘H%EEMB%% A=B, &% C=D JKiLMH 2
S T K A TR A Y R R G

{][] ﬁn’ﬂ}x & I o Keeeeeieniessensanirecassssseses (1)
AWy DL xn;(_x)ﬂ ....................... (2)

55 (2) R 18 &R M S AL 45 (1) 3 A% R I 545 (2) X 22 e
ST 8 SE DL IR BB A L8R T
7 &
O R I AW
1. (a+b+c)*—a*—b*>—c*=3(a+b)(b+c)(cta),

2. (a’+b)(x*+y?)=(ax+by)® + (bx—ay)*

X+2 x+b X+cC
(a—bXa— c)+ #

(b—cXb—a)' ‘c—aXc—b) =
(a®—b?)(x*—y*) = (ax+ by)* —(bx+ay)®

(x+y)*—x*—y®=3xy(x+y).

- v




s+ =R Ho%& X om X OE A i

6. (a-’i'b'i’c):;;ag '}__bS +C"+3a2<b+6)+3b2

(c—i—a)+3c“(a-+b)+6abc
4.4 o 5 g B MR — R CE B
EMAEREL—-F H‘%é:ﬂfﬁﬁ’(ﬂ’]ﬁﬁiﬁ%&x_
ﬁéﬁﬂﬁi%%ﬁ’ﬂté&i&,ﬂuﬁfz‘:ﬁﬁ‘sc?ﬁ%ikﬂa
(9 1% BT TR AR S5 X I T R % oK i fl 1 00 L 20
35 BRI 5 s b 8K E IR BT,
Bl Bk« +4x+6 fL o BL (x4 1) R G Y #
ZREHK,
(i) ik = K KX f % & gk = a(x+1)°+b
(x+1)+cab.c #E AR M B
5B LT R, B A
LMD SR O R  LIE TE RS b B R 1)

i 2 +4x+6=ax2+(2a+ D)X+ (@ + b )i (2)
W2 B IR (2) R 4 4 5 DA K B AR
il 4,8
a=1, 2a+b=4, a+b+c=6,
Mz a=1, b=2, c=3
118 x2+4x4+6=(x+1)*+2(x+1)+3,
$8 1)L R A By s RS A,



6 BEREEEERE Y MR BETHR

A A A A e A A A AN SN

1 4 6| —1
S o
1 3 3
—1
TR

A PR MR B RSN x+1 KRR
F R0 B 4 T AR MO S R D a1 BRI~ R
B 5 5, PL T 2 e,
Bl 2 R x*+x—2 i x*+x>—4 By X AR RX,
U RERXEZRIBRLE - RAEH LK
7
a,x*+a.x+a, f1b,x+b,
Hlf  x*4x*—4d=(ax*+a,x+a,)(x* +x—2)+bx+b,
BBl xt*+xd—4=a,x*+(a,+a,)x*—(2a,—a,—a,)x*
—(2a,—a,—b)x—(2a,—b )
] 7} 2K 350 A% 3R ST DA
a,=1, a,+a,=1, —2a,+a,+a,=0,
_~2a1—i—a2+bo=0, —2a,+b,=—
2z a =0 a,=2 b,=-2 b,=0,
Wk =2"+2, fHl=-2x
SHBAMBBHES SFBRXFED
{8 B8 P2 (T & 06 2 9 5 LT A 0




£r=3 mo%s R Mok ER 1

I

E A R %l EE X ) S 2 ST 5
2B S 8 & 3T BE IR — S I KPR

— BB - X PHE - XTFRAE
B o — 3 B o R I U TR 4 0,0k 105E 2

LrmERNBRXEEERSH HBER
18 Jui x(y“;"zyﬂ’(Z+")2+Z(x+y)’~4xyz,rg.:_§

i

25 1 2 0 G 00 % A6 X (522 Sl Bk ) R
At 119 £ e, 25 B0 B R B A IR S 2 B RN
B L T 2,5 B0 8 AR A R IR 3R B R
Wi 2 88 26 72 3,57 DL B #G oX i R 2800 10 28
— {i % 7% 3K,

Bt Bxyz(x+y-+z) M x+y+ 2z By ARG

(x+y+2DBwz+D), (+y+2Gryz-1),
xyz(x+y+2)?% 3xyz

#  A5 X

6. % f5 R AT R R Dl— R B REU
mﬁﬁﬂﬁﬁi?%ﬁﬁﬁ%@%m“@@
i () 3 5 o — AL A AR AL




4 ffs TF TR B AN E N S 28R BB T

Bl (x+y), ¥+2), (24%) 3k x6Y,2 Z L 51 5%

Zx ) G L
(x=y), (¥—2) (=) WEXYZZXFW
i 0 3 A F.

JEBE— B EE X B R Xy & B R
Mz uaEFEEmaPILGRNE
.

(R 1A A5 9 e 3C 5 s 00 58 =X ok 15 H P b K
3 H KL P A K ED R i3S KA e b 3 A 5K X
A B SC o 0 5 A0 T @ 0 AR v 4 K KB R AR A M
=K,

AR XRTSRTLZL I

1| R 2 € 30K i — (3 | 5K,

L R g #a M ERE#HEN— R

Il

. %
IT1. H §5 50 Bi R 09 [ o 40 B %5 78 0% B 1)
A GE TR B R,
B 1. B (x+y+2)° -2y —2° P B/ R,
(%) Bx=-y, 0 EKXHRH
=Y+ +Ay Ryt sl el



PR T I B N R A 9

P NI NSNS SN TN

B D et

it D 5 B Bk 2+ 4% Bl B T DA Bk v b2zt
W [, cx+ 3,y + 2,2+ s 5 R SR D SRR R e R H
B ol 1A — 1R SX A5 R AR SRRk = %%ﬂﬁﬁ
« E(x*+y*+2°)+L(xy+yz+2%),
2] (x+y+2)°*—xt—3°—2°
= (x4 9@ + D2+ +9° +2°) + L3y +32+20)]
Plx=ly=1z=04; A4 16=2k+L
Plx=2y=12z=04% A 7} 85=5k+2L
fi Z % k=5, L=9%
i (x+y+2)8—2°—y°—2°=5(x+y)(¥+2)(z+%)
(A +y*+2° +xy+yz+2%)
Bl 2. dBat(b—c)+b>(c—a)+c’(a—b) i WK,
) #Fa=b, W ERBHFKa-bKE0— M
B 5%, 5 1 R 3R — i P A R ML b—coe—a 2 i
KW K,
AR RS2 oK e RS R W — — R
R IR 43 L(atb+eo)
Hi a’(b—c)+b*(c—a)+c’(a—Db)
=L(a—b)(b—c)(c—a)(a+b+c),

% Pa=0, b=1, c=2{t AM M 6L=—6 L=-1



10 5 IE B AT Sl W T b 2 A AR B BT B

#  a*(b—c)+b¥(c—a)+ci(a—b)
=—(a=b)(b=c)(¢—a)(a+b+o),
2 &
1. R\ +8x+T K D 2243 R MBIy £
I\ K.

2. R M — i B Rax+by=—-1, & I W
R4S x=3y=1F1x=4y=—1,
3. RAEKFITBR x*+bx*+cex+d=0, EHmHE =#
£5 2,1, 0 3,
AR R R Bk R T 40 4 Al R Bk K BR i e
R %,
4. 3x*—2x°-32x? 1 66x—35, x?42x—T7,
5.  3x*—-3x*+x-35, x?—3x+2,
6. 2x%--3x*4+x*-5, x*—3x+2,
5 F A0 A R R
7. x*(Y-2)+y*(z—x)+2"(x-y).
8. (x-¥)*+(W—-2)?2+(z—x)°
9. x(+2D+y(E+2)?+2(x+y)> —4xyz,
10.  2*(¥—2)* 49 (z—0)*+22(x—)",
14, CxECYF D) +ayz,




